

# On an Inequality Involving the Complex Polynomial and Its Derivative

N. Prasanna Kumar\*

(Submitted by S. N. Tronin)

*Department of Mathematics, Birla Institute of Technology and Science,  
Pilani K K Birla Goa Campus, Goa, 403726 India*

Received January 6, 2014

**Abstract**—Let  $P(z)$  be a complex polynomial of degree  $n$  of lacunary type having zeros in  $|z| < 1$ , and  $1 \leq r < R$ . In this paper, we shall estimate a new type of bound in more generalized form for  $\max_{|z|=1} |P'(z)|$  in terms of  $\max_{|z|=Rr} |P(z)|$  and  $\max_{|z|=R^2} |P(z)|$ .

**DOI:** 10.1134/S1995080215020110

Keywords and phrases: *polynomials, zeros, inequalities.*

## 1. INTRODUCTION

The subject of Geometry of Polynomials is quite interesting and vast. Hundreds of results are available in the literature on Markov's and Bernstein's theorems and their generalizations in different metrics. We consider the problem of inequalities involving polynomials and their derivatives. The unfolding of this area of research is very well explained in [13, 15]. Firstly we present the well-known theorem of Turan [16] on the complex polynomials having all its zeros in the unit disc.

If  $P(z)$  is a polynomial of degree  $n$  having all its zeros in  $|z| \leq 1$ , then

$$\max_{|z|=1} |P'(z)| \geq \frac{n}{2} \max_{|z|=1} |P(z)|. \quad (1.1)$$

The result is sharp and the equality holds in (1.1) if all zeros of  $P(z)$  lie on the unit circle.

More generally, if the polynomial  $P(z)$  has all its zeros in  $|z| \leq K \leq 1$ , then Malik [12] proved the following inequality.

If  $P(z)$  is a polynomial of degree  $n$  having all its zeros in  $|z| \leq K \leq 1$ , then

$$\max_{|z|=1} |P'(z)| \geq \frac{n}{1+K} \max_{|z|=1} |P(z)|. \quad (1.2)$$

The result is sharp and the equality holds in (1.2) if  $P(z) = z^n + K$ .

Govil [8] considered the problem of determining the maximum modulus of the derivative of a complex polynomial whose zeros are in the disc  $|z| \leq K$ ,  $K \geq 1$ . Infact he proved that, if  $P(z)$  is a polynomial of degree  $n$  having all its zeros in  $|z| \leq K$ ,  $K \geq 1$ , then

$$\max_{|z|=1} |P'(z)| \geq \frac{n}{1+K^n} \max_{|z|=1} |P(z)|. \quad (1.3)$$

The result is sharp and the equality holds in (1.3) if  $P(z) = z^n + K^n$ .

There are many improvements, generalizations, and different versions of inequalities analogous to (1.3) [1, 2, 3, 5, 8, 10, 11]. The bound in (1.3) depends only on the zeros of largest modulus and not on any other zeros, even if many of them are of smaller moduli. This case was very well handled

---

\*E-mail: prasannakornaya@rediffmail.com

by Govil [7]. So the inequality in (1.3) can be further modified if we obtain a bound which depends on atleast some of the nonzero coefficients of  $P(z)$ , the location of the zeros of the given polynomial and more importantly, the modulus of each of the zeros. It is quite natural to ask how does the inequality look if all the zeros are on and within a disk of radius  $K$ . A paper due to Prasanna Kumar [14] answered this question partially in one way if  $K \geq 1$ . Now the next question is how does this inequality may be transformed if the maximum modulus of the derivative is sought in terms of the maximum modulus of the polynomial on a circle exterior to  $|z| = K$  and  $K < 1$ ? Could we get a more generalized inequality of this kind? This paper makes an attempt to proceed in this direction and proves a new inequality in generalized form. In fact, we state the theorem more generally as follows.

**Theorem 1.1.** *If  $P(z) = \sum_{k=0}^n a_k z^k = a_n \prod_{k=1}^n (z - z_k)$  is a polynomial of degree  $n > 3$  having all its zeros in  $|z| < R$ , then for  $1 \leq r < R$ ,*

$$\begin{aligned}
 B \max_{|z|=1} |P'(z)| &\geq \frac{1}{R^{2n}} \sum_{k=1}^n \frac{1}{R + |z_k|} \max_{|z|=R^2} |P(z)| \\
 &- \frac{1}{R^n r^n} \sum_{k=1}^n \frac{1}{R + |z_k|} \max_{|z|=Rr} |P(z)| + 2|a_{n-1}| \sum_{k=1}^n \frac{1}{R + |z_k|} \left( \frac{(R^n - r^n)}{n(n+1)} - \frac{R-r}{n+1} \right) \\
 &+ 2|a_{n-2}| \sum_{k=1}^n \frac{1}{R + |z_k|} \left[ \frac{R^n - r^n}{n(n-1)} - \frac{R^{n-2} - r^{n-2}}{(n-2)(n-3)} + \frac{2(R-r)}{(n-1)(n-3)} \right] \\
 &+ \frac{B}{R^{n-1}} \left( 2|a_1| \frac{(R^{(n-1)} - 1)}{(n+1)} + 2|a_2| \left[ \frac{R^{(n-1)} - 1}{(n-1)} - \frac{R^{(n-3)} - 1}{(n-3)} \right] \right). \tag{1.4}
 \end{aligned}$$

where  $B = \frac{R^n - r^n}{n} \sum_{j=1}^n \frac{1}{(R - |z_j|)}$ . In the limiting case  $r \rightarrow R$ , inequality (1.4) becomes equality.

## 2. LEMMAS

For the proof of the theorems, we need the following lemmas. First lemma is due to Girox, Rahman and Schmeisser [6].

**Lemma 2.1.** *If  $P(z) = a_n \prod_{k=1}^n (z - z_k)$  is a polynomial of degree  $n$  having all its zeros in  $|z| \leq 1$ , then*

$$\max_{|z|=1} |P'(z)| \geq \sum_{k=1}^n \frac{1}{1 + |z_k|} \max_{|z|=1} |P(z)|. \tag{2.1}$$

Equality in (2.1) holds if every  $z_k$  is positive real.

Dewan et al. [4] derived the following lemma, which we will use in proving our results.

**Lemma 2.2.** *If  $P(z) = \sum_{k=0}^n a_k z^k$  is a polynomial of degree  $n > 2$ , then for any  $R \geq 1$ ,*

$$\max_{|z|=R} |P(z)| \leq R^n \max_{|z|=1} |P(z)| - 2|a_0| \frac{(R^n - 1)}{n+2} - |a_1| \left[ \frac{R^n - 1}{n} - \frac{R^{n-2} - 1}{n-2} \right]. \tag{2.2}$$

Equality holds in (2.2) if  $P(z) = z^n + 1$ .

Now we prove a new inequality involving the derivative of polynomials.

**Lemma 2.3.** If  $P(z) = \sum_{k=0}^n a_k z^k = a_n \prod_{k=1}^n (z - z_k)$  is a polynomial of degree  $n$  then for any  $R > |z_j|, 1 \leq j \leq n$ ,

$$\max_{|z|=R} |P'(z)| \leq \sum_{k=1}^n \frac{1}{R - |z_k|} \max_{|z|=R} |P(z)|. \quad (2.3)$$

There is an equality in (2.3) if all the zeros of  $P(z)$  lie at the origin.

*Proof.* The proof is analogous to the proof of Lemma 2.1 in the paper due to Govil et al. [9]. We have

$$P(z) = a_n \prod_{j=1}^n (z - |z_j| e^{i\theta_j}).$$

For  $0 \leq \theta < 2\pi$ , we have

$$\left| \frac{1}{Re^{i\theta} - |z_j| e^{i\theta_j}} \right|^2 = \frac{1}{R^2 + |z_j|^2 - 2R|z_j| \cos(\theta - \theta_j)} \leq \frac{1}{(R - |z_j|)^2}.$$

But then

$$\left| \frac{P'(Re^{i\theta})}{P(Re^{i\theta})} \right| \leq \sum_{j=1}^n \left| \frac{1}{Re^{i\theta} - |z_j| e^{i\theta_j}} \right| \leq \sum_{j=1}^n \frac{1}{(R - |z_j|)}.$$

A simple observation and rearrangement give the desired result.  $\square$

*Remark 2.4.* One can observe that, if the difference between  $R$  and  $|z_j|$  is too small, then the inequality proved in the above lemma becomes too loose! The lemma is useful and justified whenever the value of  $R - |z_j|$  is considerably greater. The result is more interesting if  $R - |z_j| = n$  for every  $j$ .

Now we prove a lemma which will be used in proving our theorem.

**Lemma 2.5.** If  $P(z) = \sum_{k=0}^n a_k z^k = a_n \prod_{k=1}^n (z - z_k)$  is a polynomial of degree  $n > 3$  having all its zeros in  $|z| < 1$ , then for any  $1 \leq r \leq R$ ,

$$\begin{aligned} \max_{|z|=R} |P(z)| &\leq \frac{R^n - r^n}{n} \sum_{j=1}^n \frac{1}{(1 - |z_j|)} \max_{|z|=1} |P(z)| + \max_{|z|=r} |P(z)| - 2|a_1| \left( \frac{(R^n - r^n)}{n(n+1)} - \frac{R-r}{n+1} \right) \\ &\quad - 2|a_2| \left[ \frac{R^n - r^n}{n(n-1)} - \frac{R^{n-2} - r^{n-2}}{(n-2)(n-3)} + \frac{2(R-r)}{(n-1)(n-3)} \right]. \end{aligned} \quad (2.4)$$

The above result is sharp for any polynomials having zeros inside the unit disc when  $R = r$ .

*Proof.* Let the polar representation of  $z$  be  $z = te^{i\theta}$ . Then for every  $\theta$  with  $0 \leq \theta < 2\pi$ , we have

$$|p(Re^{i\theta}) - p(re^{i\theta})| \leq \int_r^R |p'(te^{i\theta})| dt.$$

Now applying Lemma 2.2 and then Lemma 2.3 to the polynomial  $P(z)$  which is of degree greater than 3, we get

$$\begin{aligned} |p(Re^{i\theta}) - p(re^{i\theta})| &\leq \int_r^R \left[ t^{n-1} \max_{|z|=1} |P'(z)| - 2|a_1| \frac{(t^{n-1} - 1)}{n+1} - 2|a_2| \left[ \frac{t^{n-1} - 1}{n-1} - \frac{t^{n-3} - 1}{n-3} \right] \right] dt \\ &= \left( \frac{R^n - r^n}{n} \right) \max_{|z|=1} |P'(z)| - 2|a_1| \left( \frac{(R^n - r^n)}{n(n+1)} - \frac{(R-r)}{n+1} \right) \\ &\quad - 2|a_2| \left[ \frac{R^n - r^n}{n(n-1)} - \frac{R^{n-2} - r^{n-2}}{(n-2)(n-3)} + \frac{2(R-r)}{(n-1)(n-3)} \right] \end{aligned}$$

$$\begin{aligned} &\leq \frac{R^n - r^n}{n} \sum_{j=1}^n \frac{1}{(1 - |z_j|)} \max_{|z|=1} |P(z)| - 2|a_1| \left( \frac{(R^n - r^n)}{n(n+1)} - \frac{(R-r)}{n+1} \right) \\ &\quad - 2|a_2| \left[ \frac{R^n - r^n}{n(n-1)} - \frac{R^{n-2} - r^{n-2}}{(n-2)(n-3)} + \frac{2(R-r)}{(n-1)(n-3)} \right]. \end{aligned}$$

Simple application of the property of difference between moduli of two functions to the left hand side of the above inequality and minor rearrangements of the terms will yield the inequality (2.4). Hence the proof is complete.  $\square$

*Remark 2.6.* Lemma 2.5 connects the bound for the maximum moduli of polynomials on two different circles with respect to the unit disc containing all the zeros of the polynomials. It is always interesting that maximum modulus of a polynomial in any arbitrary circles can be related by the location of zeros of the polynomials and such inequalities.

### 3. PROOF OF THE THEOREM

Since the zeros of  $P(z)$  are  $z_k$  ( $1 \leq k \leq n$ ) the zeros of the polynomial  $q(z) = p(Rz)$  are  $\frac{z_k}{R}$  ( $1 \leq k \leq n$ ). Also observe that, the zeros of  $q(z)$  all lie in  $|z| < 1$ , since all the zeros of  $P(z)$  satisfy  $|z_j| < R$ ,  $1 \leq j \leq n$ . Now by Lemma 2.1 we have

$$\max_{|z|=1} |q'(z)| \geq \sum_{k=1}^n \frac{1}{1 + \frac{|z_k|}{R}} \max_{|z|=1} |q(z)|$$

which gives

$$\max_{|z|=R} |P'(z)| \geq \sum_{k=1}^n \frac{1}{R + |z_k|} \max_{|z|=R} |P(z)|. \tag{3.1}$$

As the degree of  $P(z)$  is greater than 3, the degree of  $P'(z)$  is greater than 2. Therefore applying Lemma 2.2 to  $P'(z)$  with  $R > 1$ ,

$$\max_{|z|=R} |P'(z)| \leq R^{n-1} \max_{|z|=1} |P'(z)| - 2|a_1| \frac{(R^{(n-1)} - 1)}{(n+1)} - 2|a_2| \left[ \frac{R^{(n-1)} - 1}{(n-1)} - \frac{R^{(n-3)} - 1}{(n-3)} \right]. \tag{3.2}$$

From equations (3.1) and (3.2) it follows that

$$\begin{aligned} \sum_{k=1}^n \frac{1}{R + |z_k|} \max_{|z|=R} |P(z)| &\leq R^{n-1} \max_{|z|=1} |P'(z)| - 2|a_1| \frac{(R^{(n-1)} - 1)}{(n+1)} \\ &\quad - 2|a_2| \left[ \frac{R^{(n-1)} - 1}{(n-1)} - \frac{R^{(n-3)} - 1}{(n-3)} \right]. \end{aligned}$$

Equivalently,

$$\begin{aligned} \max_{|z|=1} |P'(z)| &\geq \frac{1}{R^{(n-1)}} \sum_{k=1}^n \frac{1}{R + |z_k|} \max_{|z|=R} |P(z)| \\ &\quad + \frac{1}{R^{n-1}} \left( 2|a_1| \frac{(R^{(n-1)} - 1)}{(n+1)} + 2|a_2| \left[ \frac{R^{(n-1)} - 1}{(n-1)} - \frac{R^{(n-3)} - 1}{(n-3)} \right] \right). \end{aligned} \tag{3.3}$$

Let  $S(z) = z^n P(\frac{1}{z})$ . Note that the polynomial  $S(\frac{1}{Rz})$  has all its zeros in  $|z| < 1$ . Also observe that

$$\max_{|z|=R} \left| S \left( \frac{1}{Rz} \right) \right| = \frac{1}{R^{2n}} \max_{|z|=R^2} |P(z)|, \quad \max_{|z|=r} \left| S \left( \frac{1}{Rz} \right) \right| = \frac{1}{r^n R^n} \max_{|z|=Rr} |P(z)|$$

and

$$\max_{|z|=1} \left| S \left( \frac{1}{Rz} \right) \right| = \frac{1}{R^n} \max_{|z|=R} |P(z)|.$$

Now applying Lemma 2.5 to the polynomial  $S\left(\frac{1}{Rz}\right)$ , we get

$$\begin{aligned}
& \max_{|z|=R} \left| S\left(\frac{1}{Rz}\right) \right| \leq \frac{R^n - r^n}{n} \sum_{j=1}^n \frac{R}{(R - |z_j|)} \max_{|z|=1} \left| S\left(\frac{1}{Rz}\right) \right| + \max_{|z|=r} \left| S\left(\frac{1}{Rz}\right) \right| \\
& - 2|a_{n-1}| \left( \frac{(R^n - r^n)}{n(n+1)} - \frac{R-r}{n+1} \right) - 2|a_{n-2}| \left[ \frac{R^n - r^n}{n(n-1)} - \frac{R^{n-2} - r^{n-2}}{(n-2)(n-3)} + \frac{2(R-r)}{(n-1)(n-3)} \right] \\
& \Rightarrow \\
& \frac{1}{R^{2n}} \max_{|z|=R^2} |P(z)| \leq \frac{R^n - r^n}{nR^n} \sum_{j=1}^n \frac{R}{(R - |z_j|)} \max_{|z|=R} |P(z)| + \frac{1}{r^n R^n} \max_{|z|=Rr} |P(z)| \\
& - 2|a_{n-1}| \left( \frac{(R^n - r^n)}{n(n+1)} - \frac{R-r}{n+1} \right) - 2|a_{n-2}| \left[ \frac{R^n - r^n}{n(n-1)} - \frac{R^{n-2} - r^{n-2}}{(n-2)(n-3)} + \frac{2(R-r)}{(n-1)(n-3)} \right] \\
& \Rightarrow \\
& \frac{R^n - r^n}{n} \sum_{j=1}^n \frac{R}{(R - |z_j|)} \max_{|z|=R} |P(z)| \geq \frac{1}{R^n} \max_{|z|=R^2} |P(z)| - \frac{1}{r^n} \max_{|z|=Rr} |P(z)| \\
& + 2R^n |a_{n-1}| \left( \frac{(R^n - r^n)}{n(n+1)} - \frac{R-r}{n+1} \right) + 2R^n |a_{n-2}| \left[ \frac{R^n - r^n}{n(n-1)} - \frac{R^{n-2} - r^{n-2}}{(n-2)(n-3)} + \frac{2(R-r)}{(n-1)(n-3)} \right] \\
& \Rightarrow \\
& \max_{|z|=R} |P(z)| \geq \frac{1}{BR^{n+1}} \max_{|z|=R^2} |P(z)| \\
& - \frac{1}{BRr^n} \max_{|z|=Rr} |P(z)| + 2\frac{R^{n-1}}{B} |a_{n-1}| \left( \frac{(R^n - r^n)}{n(n+1)} - \frac{R-r}{n+1} \right) \\
& + 2\frac{R^{n-1}}{B} |a_{n-2}| \left[ \frac{R^n - r^n}{n(n-1)} - \frac{R^{n-2} - r^{n-2}}{(n-2)(n-3)} + \frac{2(R-r)}{(n-1)(n-3)} \right], \tag{3.4}
\end{aligned}$$

where  $B = \frac{R^n - r^n}{n} \sum_{j=1}^n \frac{1}{(R - |z_j|)}$ . Equations (3.3) and (3.4) together gives the desired result. Thus the proof is complete.

#### ACKNOWLEDGMENTS

The author is indebted to the referees and the editor Prof. A.M. Elizarov for their valuable suggestions and carefull reading of the manuscript.

#### REFERENCES

1. A. Aziz and Q. M. Dawood, J. Approx. Th. **54**, 306 (1983).
2. A. Aziz and W. M. Shah, Math. Inequal. Appl. **7** (3), 379 (2004).
3. K. K. Dewan and S. Hans, Ann. Univ. Mariae Curie-Skodowska Sect. A **63**, 55 (2009).
4. K. K. Dewan, Jagjeet Kaur, and Abdullah Mir, J. Math. Anal. Appl. **269**, 489 (2002).
5. R. B. Gardner, N. K. Govil, and A. Weems, East J. Approx. **10**, 301 (2004).
6. A Girox, Q. I. Rahman, and G. Schmeisser, Can. J. Math. **31**, 347 (1979).
7. N. K. Govil, J. Approx. Th. **63**, 65 (1990).
8. N. K. Govil, Proc. Amer. Math. Soc. **41**, 543 (1973).

9. N. K. Govil, A. Liman, and W. M. Shah, *Austr. J. Math. Anal. Appl.* **8** (1), 1 (2011).
10. N. K. Govil and R. N. Mohapatra, *J. Ineq. Appl.* **3**, 349 (1999).
11. V. K. Jain, *Ind. J. Pure and Appl. Math.* **30**, 153 (1999).
12. M. A. Malik, *J. Lond. Math. Soc.* **2**, 57 (1994).
13. G. V. Milovanovic, D. S. Mitrinovic, and Th. M. Rassias, *Topics in Polynomials: Extremal Problems* (World Sci., 1994), pp. 383–526.
14. Prasanna Kumar N, *Act. Math. Vietn.* **37** (1), 63 (2012).
15. Q. I. Rahman and G. Schmeisser, *Analytic Theory of Polynomials* (Oxford Univ. Press, New York, 2002), pp. 347–353.
16. P. Turan, *Comp. Math.* **7**, 349 (1939).